(Question Paper Name: Computer Science and Engineering

Subject Name: Computer Science and Engineering
Ivlathematics
Number of Questions: 50
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 67809417424 Display Question Number @ Yes Single Line Question Option : No Option
Oricntation : Vertical
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Question Number : 2 Question Id : 67809417425 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical
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(Question Number : 3 Question Id : 67809417426 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

If two rows or two colunms of a deternunant are identical then the value of the determinant is

Options :
™

| -

Cuestion Number : 4 Question Id : 67809417427 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

265 240 219
The value of 240 225 198] 1is
219 198 181

k-2

(Question Number : 5 Question Id : 67809417428 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Yertical

=
[

The adjoint of the square matrix A =

s D

Options :

.3 = LN

1

1

15
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Question Number : 6 Question Id : 67809417429 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
G L 5
| 2i-1  3i-1
10 15
R e | Ir—1
11 7
I 5 i | Zpe=]
3.
1 2
4 2—=1 S —l

(2x—1)(3x—1)

Question Number : 7 Question Id : 67809417430 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Resolve mto partial fractions

Options :
>

=

7 Heh |

1.

(-1 (x-2)
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Cuestion Number : 8 Question Id : 67809417431 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 - -
IftanA = - and tanB = < then tan(A — B) =
Options :

1
|7

-1
27

1
3 5

1
4 3

Question Number : 9 Question Id : 67809417432 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of cotZA + tanA —

Options :
| SInZA
+ CO0S2A

sec2A

s

- cosecZA

P

Question Number : 10 Question Id : 67809417433 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options :

¢ sin/\

v cosA

tanA

—

4 cotA

Question Number : 11 Question Id : 67809417434 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. .. T ., 2 . 3m . 4m
Thevalueof sin—sin—sin—s8in— =
5 5 5 3
Options :
&
1 15
=N
2. 16
-
., 16
J.
7
4 1>

Question Number : 12 Question Id : 67809417435 Display Question Number : Yes Single Line Question Option : No Option
(wrientation : Vertical

The value of c0s20° 4 cos100° + cos140° =

Oplions :

O

s
'—
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The value of Y a(b? + ¢?)cosA is

Options :
| 2abce

s

Question Number : 14 Question Id : 67809417437 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. 9 L T T & O T
The value of (a — b)*cos® (E) + (a + b)?sin® (E) is

Options :

6

» O

CS

L

; C°

Question Number : 15 Question Id : 67809417438 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 1 .
The value of 2tan (E) + tan 1 (-;) 15

Options :

, w4

.;r[l,-'-':}
3. T[J'IIG
4 T3

Question Number : 16 Question Id : 67809417439 Display Question Number : Yes Single Line Question Option : No Option
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Oplions :
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(Question Number : 17 Question Id : 67809417440 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

4 1 -1 - it 5 :
Iftan™'x+ tan™'y + tan~'z = T then the value of xy + yz + 2x 1s

Oplions :

L=l
1.3
300
4.1

Question Number : 18 (Question Id : 67809417441 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The modulus of a complex number v3 +1{ 1s

Oplions :
-

L. ==

s
I-2

Cuestion Number : 19 Question Id : 67809417442 Display Question Number : Yes Single Line Question Option : No Option

Mrientatinn « Verticral
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Options :
| 2cosn0
» -2 cosnt

| 3 cosf

Ll

2 sin nf
4,

Question Number : 20 Question Id : 67809417443 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

The centre of the circle:x? 4 y2 2x 1 6y —6=0 13

Oplions :

¢ (1:3)

4

Pl
[~
T

R

e
N

(%)
f—

L (-1.3)

Question Number : 21 Question Id : 67809417444 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of the circle: 5x% + 5y? — 6x + 8y — 75 =0 is

Oplions :

| -4

L
-2

TJ_J

Question Number : 22 Queslion Id : 67809417445 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ecnation of the narabola with vertex (2. —1) and foens (2. —3) ic
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x?  Ax gy — 12

-

x2+4x -8y 12 =0

o

%% 4 5x —~8y - T1L =0

Cuestion Number : 23 Question Id : 67809417446 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The centre of the ellipse: 9x% + 25y% — 18x + 100y — 116 =0 is
Options :

(2 1)

(~1:—2)

Lo

(L, 2)

e

z. (3r2)

(Question Number : 24 Queslion Id : 67809417447 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¥

- - X B ;
The focus of the hyperbola———=1 15
’ 25 144

Options :

 (-13,0)

. (13,0)

, (13,1)

Cuestion Number : 25 Question Id : 67809417448 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the major axis of the ellipse: 4x 2 -+ 3y? = 48 is
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Question Number : 26 Queslion Id : 67809417449 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

v —1
r—1

The value of limy_y

Options :
i 3

—
]

Question Number : 27 Queslion Id : 67809417450 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_ a+bx | o ) | |

It y= o then the derivative of ¥y with respect to X 1s
Options :

a‘+h-
{ (b—ax)?

aZ+h?
v (b+ax)=

g% -b*
_ (b-ax)?
.

a+b
4 (b—ax)?

Ouestion Number : 28 Ouestion Id : 67809417451 Displav Ouestion Number @ Yes Sinele Line Ouestion Ontion : No Obption
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Options :

1 (x — 3)x%e®

(e— 2)n"e®

-

(x 1 3)x?%e*

)

(x — L)x3eX

Question Number : 29 Question Id : 67809417452 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ay

X

If v =secx +tanx then 1S

Options :

| Y cosx
, ysecx
. —Y8Inx
J

tan x
47

Question Number : 30 Queslion Id : 67809417433 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2+3sinhx

HTy= —— then the derivative of y with respect to x 18
2+2sinhia
Options :
5coshx

 (3+2sinh Ty

Ssinha

(3+2sinhx)<

-

5sinx

; (3-2coshx) =
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Question Number : 31 Question Id : 67809417454 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g fl—cusx ay .
[fy= |—— then =— 15

\ l14+cosx (o

(Iptions :

- A
sec” (—)
1 2

Lo

Question Number : 32 Question Id : 67809417455 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the curves y = x2% 4+ 3x — 7 and y2 =2x +5 at(2,3) is
Options :

1 tan =2

-

seclh =2

. cosh =1

mé =3

(Question Number : 33 Queslion Id : 67809417456 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The range of X for which the function x® 3x?  45x | 2 isincreasing with X is

Options :

. (3,-5)
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, (35)

, (=35)

Question Number : 34 Queslion Id : 67809417457 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of the function 2x2 — 12x2 4+ 18x 4+ 5 1is

Oplions :
f, L3

12

-

s

P
i
_h

(Question Number : 35 Question Id : 67809417458 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

o . i . ou du
[fuis a homogeneous function of x and y with degree n then x 5 | P
Options :

1. —nu
s néu
. Nu
J,
2 i
g Ut u

(Question Number : 36 Question Id : 67809417459 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of | ———dx is

A

Options :

| 2sinvx t ¢
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_2simx + ¢
.

; smyx 1 ¢

Question Number : 37 Question Id : 67809417460 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

. ax ;
The value of r = I3
Va-—x<

Oplions :

1 AL
sin~ 1 (—) fes
2 a
. s X
ginh (H) + C
3 g
. a
i~ (—) +C
4. +

Question Number : 38 Question Id : 67809417461 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

ax

The value of ( e

B s o B o o [

Oplions :

1,
1 2x+1
~cot 1( )‘l—C

) HA
1 < (2v+1
~sin 1( +c

3, 4

4 {21 1
Stan | - )—rC
; 4
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The value of J logx dx is

Oplions :

| xlogx+x+c¢

leegx x | c

xlogx — %+ ¢

]

b
il

:
xlogk ——+
2

Question Number : 40 Question Id : 67809417463 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. d — 1 :
The value ot Jl (vx + _T) dx 1s
VX

Oplions :

20
I a3

_ 0

10
: 3
J.

J._S_
g 7

Question Number : 41 Question Id : 67809417464 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

% M2 L e
The value ot ’ sin? x dx 1s

Options :
T
1 I 2
T
S 4
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Cuestion Number @ 42 (Question Id : 67809417465 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area enclosed between the curve y? = 4ax and the line x = 2y is
Options :

64 .
— $(]. UNIts

64

— 8(. UNIts

65 :
: 5. units

L

63 .
: s¢.units

Cuestion Number : 43 (Question Id : 67809417466 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s 1 1 1 ,
The value of limy [— + — 4+ —] is
n+1 n+2 n=n

Options :
, log?2

. log3
9 log?2

logn

(Question Number : 44 Question Id : 67809417467 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Form the differential equation by eliminating the arbitrary constant @ from ay” = x?3

Oplions :
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1 Ll LX

dy _ 2
) (11 3Y

v _x
348 )

ty _ 2y
4 8 % K

Cuestion Number : 45 Question Id : 67809417468 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

_—

The solution of 1 — ¥2dx ++v1 —x2dy =0 is

(Iptions :

,cosTtxtcosTty=c

) cos lx fsecTlx=c
3.
W T T
sin “x +8smn "y=¢c
4.

Question Number : 46 Question Id : 67809417469 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: .4y | :
The solution of e (4x +v +1)?% is

Oplions :
1 =0 I/'-ft'l'ﬂb"[—l\ .
—tan ‘L,—):'X—‘—C
Z 2 y
1.
1 1 (4x+y+1
“cot T |/——)=x+c
R \ 2 .

1 4 [dr+yv+1
- =tan l(f) =x +€

£

e
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(Question Number : 47 Question Id : 67809417470 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i i e ; ; 3 ;
The solution of exact differential equation 2xy dx + x“dy = 0 is

Options :

P
Ry
s XA =

By
; Xy =c¢
4 x2y3 = ¢

(Question Number : 48 Question Id : 67809417471 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: . ay _x .
The solutionof _—ty =e Y s

Options :

) (x + cle™™

(x—c)e*
(x+c)e?
3

C LAY 2
i (x + c)e™*

Question Number : 49 Question Id : 67809417472 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (D¢ + 5D + 6)y = eV is

Options :
—p~X
;| 12
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Cuestion Number : 50 (Question Id : 67809417473 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The complementary function of (D? + 3D + 2)y = 8sinSx is

Options :
cie™™ 4 e
1.

]

Physics
Number of Questions: i

Display Number Panel: Yes
Group All Questions: No

Cuestion Number : 51 Question Id : 67809417474 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is not the unit of energy?

Options :
1 watt second

. Pascal metre
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4 Kilowatt hour

Cuestion Number : 52 (Question Id : 67809417475 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The height of Mercury barometer is 76 cm and density of Mercury is 13.6 g/cc. The

corresponding height of water barometer in Sl system is

Options :
10.336 m

103.36 m

-

s
LA
o
—
-
4

4 1.0336m

(Question Number : 533 Question Id : 67809417476 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Angle made by the vector (V3 i + j) with the X-axis is
COptions :

1 /2

/4

-

/3

ey

4 TU/0

Cuestion Number : 54 (Question Id : 67809417477 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The minimum number of unequal forces in a plane that can keep a particle in equilibrium is

Options :

. 4
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Question Number ;: 55 Queslion Id : 67809417478 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is thrown with a velocity of (47 + 3j) m/s. The maximum height attained by

the body is (g=10 ms™)

Options :
[ 2.0m

-

45 m

| 0.8 m

[N

| 0.45 m

Question Number : 56 Question Id : 67809417479 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

A person in a lift, which ascends up with acceleration 10ms™, drops a stone from a height of

10m. The time of descent is (g=10 ms'z)

Oplions :

| 05s

w 1 5

1.55

s

(Question Number : 57 Question Id : 67809417480 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a projectile, the ratio of maximum height reached to the square of time of flight is

(Iptions :
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(Question Number : 538 Question Id : 67809417481 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of distances travelled by a body, starting from rest and travelling with uniform

acceleration, in successive intervals of time of equal duration will be

Options :

1. 1:2:3

e

-

3 15305

1286

=

Question Number : 59 Question Id : 67809417482 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

A tforce of 12 N acts on a body of mass 4 kg placed on a rough surface. The coefficient of
friction between body and surface is 0.2 and take g= 10 ms ™. The acceleration of the body in

ms = is

Oplions :

L

—

(Question Number : 60 Question Id : 67809417483 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

collegedunia:s

India’s largest Student Review Platform




brakes will stop the train in a distance which is

Oplions :

. d/f2

-

4d

]

4 d

Question Number ;: 61 Question Id : 67809417484 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The product of linear momentum and velocity of a body represents

Oplions :

Kinetic energy of the body

Potential energy of the body
Half the Kinetic energy of the body

Twice the kinetic energy of the body

Question Number : 62 Queslion Id : 67809417485 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A man weighing 60 kg eats plum cake whose energy content is 9800 calories. If all this

energy could be utilised by him, he can ascend to a height of

Options :

[ 17 m

» 100 m

70m

s

4 60m
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Orientation : Yertical

A crane can lift up 10,000 kg of coal in 1 hour from a mine of depth 180m. If the efficiency of

-
=

)

the crane is 80%, its input power must be (g=10 ms

Options :

| 62.5kw
. 6.25 kW

50 kw

(]

5 kW

Question Number : 64 Question Id : 67809417487 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The graph of acceleration as a function of displacement in the case of a body executing
simple harmonic motion is
Options :

1 Parabola

-

Hyperbola

Straight line with positive slope

Straight line with negative slope

Question Number : 65 Question Id : 67809417488 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The pendulum of length 'L swings from mean position toc mean position 'n’ times in one

second. The value of acceleration due to gravity is

Options :
| el

TN
s 2mn’L
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Question Number : 66 Question Id : 67809417489 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

When a source of sound is in motion towards a stationary observer, the effect observed is

Options :
Decrease in velocity of sound

. Increase in velocity of sound
increase in frequency of sound

decrease in frequency of sound

Question Number : 67 Question Id : 67809417490 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of a male person is different from that of a female person hecause

Options :
1 Two sounds have different phases

Two persons are of different size
Two sounds travel with different velocities

Two sounds have different pitch

Question Number ;: 68 Queslion Id : 67809417491 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the sound absorption of a hall is changed by 2%, then the percentage change in the

reverberation time is

Options :
| 2%
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3 1.»’:2!

No change
4.

(Question Number : 69 Queslion Id : 67809417492 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following process, the internal energy of the system remains constant?
Options :

Adiabatic

P

. lsothermal
|5<:1i?:arir;.

lsochoric

o

Question Number : 70 Question Id : 67809417493 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Heat required to raise the temperature of one gram of water through 1 Kis

Oplions :
1.0 Kcal

-

-

D1 Kcal
5 0.01 Kcal

i 0.001 Kcal

Cuestion Number : 71 Question Id : 67809417494 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific heat of a gas in an isothermal process is

Oplions :
| infinity
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Finite positive
J.

; Finite negative

Question Number : 72 Queslion Id : 67809417495 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Specific heat of aluminium is 0.25 cal/g/°C. The water equivalent of an aluminium vessel of
mass one kilogram is

COptions :

40 cal/°C

-

400 cal/°C

250 cal/~C

25 ea 1/°C

Ja

(Question Number : 73 Question Id : 67809417496 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What should be the percentage increase in the pressure so that the volume of a gas may

decrease by 5% at constant temperature?

Options :

Question Number : 74 Question Id : 67809417497 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical
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function is 2.2 eV, then the wavelength of incident radiation is

Oplions :

. 4000A
2000A

3000A

(]

, 20004

(Question Number : 75 Question Id : 67809417498 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the angle of incidence of a ray is greater than the critical angle at the core — cladding
interface in an optical fiber, then the ray travels
Options :
in the core
in the cladding

in the buffer

along the interface

Chetmstry
Number of Questions: 25
Display Number Panel: Yes
Group All Questions: No

(Question Number : 76 Queslion Id : 67809417499 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pauli's Exclusion principle states that two electrons i same orbital have

Options :
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cdifferent spins
_ Opposite spins
J.

verncal spins

Cuestion Number : 77 Question Id : 67809417500 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Orbits 1n which electrons move according to Bohr are
Options :

. elliptical

cvlindrical
g circular

i oval

Cuestion Number : 78 Question Id : 67809417501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Phosphorus has an atonmuic number of 15, A stable phosphorus atom has an electronic
configuration of

Oplions :

2 ? -0
) 15_25'.-_1J6:ﬁp'

L AL
C 1s725729%3s3p 4
a.

: 15311}61d?

Question Number : 79 Question Id : 67809417502 Display Question Number : Yes Single Line Question Option : No Option

Orrientation : Vertical
gcollegedumaa
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Oplions :

. Covalent

-

- Tonic

Polar

Ll

~vander Waals

d=

(Question Number : 80 Question Id : 67809417503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Bond formed due to sharing of electrons 1s

(Iptions :
. Tonic bond

i Netallic bond

Polar bond

Ll

~Covalent bond

N

Question Number : 81 Question Id : 67809417504 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The normality of solution obtained by dissolving 5.3 grams of Na-CO; mn 1 litre
solution 15

Oplions :

; LN

-

0.IN

0.05N

L]

, 0.5N

Question Number : 82 Question Id : 67809417505 Display Question Number @ Yes Single Line Question Option : No Option

Orientation @ Vertical
Fy s
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Options :

[ XﬁgC()g

> Na('l

L
|

Cuestion Number : 83 Question Id : 67809417506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5 moles of a solute 15 dissolved m 10 litres of solution. What 1s 1ts molarity?

Options :

12 M

=+
-2
"
==

]
-
rn
';;;7-J

C0.2M

B [

(Question Number : 84 Question Id : 67809417507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Process m which acids (H ) and bases (OH) react to form salts and water 1s called
Oplions :

1 Neutralization

. Halogenanon

Hydrogenatuon

3 Hvdrolvsis

(Question Number : 85 Question Id : 67809417508 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Options :
, Lewis acid

| [ewis base

Lo

Bronsted-Lowry acid

p Bronsted-Lowry base

(Question Number : 86 Question Id : 67809417509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One Faraday 1s equal to

Oplions :

| 99650 C

-

193100 C
. 96300 C

194500 C

i

Question Number : 87 Question Id : 67809417510 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The cell reaction of a cell is Mg(s) + 2 H (aq) — I\-’Ig3+{;a(1j} + Hx(g). If the standard

reduction potential of Znis —2.372 V. then the emtf of the cell 15
Options :
{ FL.32 N
g = LTIV
; 0.00V

(Juestion Number : 88 Question Id : 67809417511 Display Question Number : Yes Single Line Question Option : No Option
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Oplions :

. Electrical energy to chenucal energy
Chemical energy to electrical energy
Chemuical energy to free energy

Potential energy to kimetic energy

Question Number : 89 Question Id : 67809417512 Display Question Number @ Yes Single Line Question Option : No Option
Owrientation : Vertical

Mass of substance produced at electrode 1s directly proportional to the quantity of
electricity passed. This 1s known as

COptions :

. Faraday's second law

Faraday's first law
; Newton's third law

; Newton's first law

Question Number : 90 Question Id : 67809417513 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

Hardness of water 1s expressed i terms of equivalent of
Options :
1 Na-CO;

K->CO;

i_\'[g(:q(:)g

]

Ca C(:)3

L ]
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Temporary hardness 1s caused by
Oplions :

. Carbonates of calcium and magnesium
Chlorides of calcium and magnesium
Sulphates of calcium and magnesium

Nitrates of Calcium

Cuestion Number : 92 Question Id : 67809417515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The exhausted zeolite bed can be regenerated by washing with

Oplions :

, NaCl

dil. NaOH

-

~dil. HC

L]

Distilled water

45

(Question Number : 93 Question Id : 67809417516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Corroston 1s an example of

Options :

Oxidation

]

. Reduction

Electrolvsis

]

Halogenation

L ]
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The composition of rust 15

Options :

. Fe(OH);

FCCI_:-,

-

FeO

(]

FE’;O}. XHEO

(Question Number : 95 Question Id : 67809417518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one ot the following statement 1s not true?
Options :
Natural rubber has the trans-contiguration at every double bond

Buna-S 1s a copolymer of butadiene and styrene

Natural rubber 1s a 1. 4-polyvmer of 1soprene

o

In vulcanization. the formation of sulphur bridges between different chains
makes rubber harder and stronger

(Question Number : 96 Question Id : 67809417519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The monomers of Buna-S rubber are

Options :
Styrene and butadiene

1
Styrene and 2-propene
, [soprene and butadiene

L ]
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Question Number : 97 Question Id : 67809417520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The plastics which soften when heat 1s applied with or withourt pressure. but require
cooling to set them to shape are called as

Options :
1 Thermosoftmg materials

Thermosetung materials

Thermoplastic materials

Ll

; Thermostatting materials

Question Number : 98 (Question Id : 67809417521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statement 1s not true about ideal tuel?

Options :
. High caloritic value

High moisture content

-

- Low cost

(]

, Moderate 1gnition temperature

Question Number : 99 (Question Id : 67809417522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enviromuental pollution attects

Oplions :

Humans onlv
i J

. Plants only

gcollegeduniaa

]



) Both abiotic and biotic components

(Question Number : 100 Question Id : 67809417523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Laver of atmosphere i which ozone laver lies 1s
Options :

. Troposphere

. Stratosphere

_ Exosphere
J.

, Mesosphere

Computer Science and Enginesrmg

Number of Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 67809417524 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The canonical sum of product form of the function yv(A,B) = A+ B is
COptions :
| AB+BB+A'A

iAB+ﬂB+AB’

BA+ BA"+ A'B

]

, AB+AB +A'B

Question Number : 102 Question Id : 67809417525 Display Question Number : Yes Single Line Question Option : No Option
(wrientation : Vertical

(A + RWA ¥R =7
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Question Number : 103 Question Id : 67809417526 Display Question Number

Orientation : Vertical
Each "1" entry n a [{-map square represents:
Options :
A HIGH for each mput truth table condition that produces a HIGH output

-

L

A HIGH output on the truth table for all LOVY wiput combinations

L]

CA DOV output for all possible HIGH wmput conditions

4 ADON'T CARE condition for all pagsible mput truth table combinations

Question Number : 104 Question Id : 67809417527 Display Question Number

Orientation : Vertical
The Register 13 a type of
Options :

1. Combmational curcuat

2. sequential cireut
3. CPU

4, Latches

Question Number : 105 Question Id : 67809417528 Display Question Number

Orientation : Vertical

The output swn of two decunal digits can be represented m
Options :

1. Gray Code

B O ol LB

3. BCD

4 Hezadecunal

(Question Number : 106 Question Id : 67809417529 Display Question Number
Orientation : Vertical

: Yes Single Line Question Option : No Option

: Yes Single Line Question Option : No Option

: Yes Single Line Question Option : No Option

» Yes Single Line Question Option : No Option

Abasic 5-R fhp-flop can be constructed by cross-coupling of which basic logic gates”

Options :
1. AND or OR gates

2. XOR or ZINOR gates
3. NOR or AND gates
4 NAND or NOR gates

Question Number : 107 Question Id : 67809417530 Display Question Number

: Yes Single Line Question Option : No Option
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4 AEXOR B

(Question Number : 108 Question Id : 67809417531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If one wants to design a bmary counter, preferred type of flip-flop 15
COptions :

1. D type

- o-R type

. Latch

L

]

4. J-I type

Question Number ;: 109 Question Id : 67809417532 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Among the followmng layers which Layer 15 responsible for Toleen management?
Options :
1. Pliysical

. Application

L

Sess10n

4 Networle

]

Question Number : 110 Question Id : 67809417533 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

In TCF/IFP, The protocol SIMTP 15 uged m wluch layet”
Options :
1. Application

-

2 Host-network

(]

- Transport

4 Association

Question Number : 111 Question Id : 67809417534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oending a message to a particular group can be named as
Oplions :
1. IVulticasting

-

-, Broadcasting

]

- pomt-pomt

4. Unicasting

CQuestion Number : 112 Question Id : 67809417535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Among the followmg Taopologies wluch topology 12 the reliable one
Oplions :
1. Htar
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Question Number : 113 Question Id : 67809417536 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Which of the followimg cables work based on Light?
Options :

1. co_a:ial

2copper

3. twisted pawr

4. aptical

Question Number : 114 Question Id : 67809417537 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

Among the followmng devices which 18 used for signal strengths?
Options :

1. Repeaters

2. Hubs

3. pwitches

4. brdges

Question Number : 115 Question Id : 67809417538 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

In which of the following networles toleen bus will be uged 7
Options :
1. pomt pomnt

e

2. Broadcast
3. Unicast

4. Nulticast

(Question Number : 116 Question Id : 67809417539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When an email 15 gent from SWTP protocol which port will recetve at the destination”?
Options :
l Th

|

% ~

& o
345

4. 30

(Question Number : 117 Question Id : 67809417540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The IP address 192,108, 2.4 belongs to wluch of the followimg
Options :
1. class A
2 class B
Cclass C

4 class D

(]
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When searclung a website which of the followimng protocol 13 helpful?
Options :
. aMTP

L aLIE
3 1P
4 TELNET

(Question Number : 119 Question Id : 67809417542 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The format 15 usually used to store data,
COptions :

1. BCD

2. Decitmal

3. Hecadecimal

4 Octal

Question Number ; 120 Question Id : 67809417543 Display Question Number : Yes Single Line QQuestion Option : No Option

Orientalion : Verlical

The ALU malces use of to store the mtermediate results,
Options :

1. Accumulators

e

2. Registers

]

. Heap

4 Stack

Question Number : 121 Question Id : 67809417544 Display Question Number : Yes Single Line QQuestion Option : No Option

Orientation : Vertical
The addressing mode, whetre you divectly specify the operand value 13

Options :
I Relative
RAE | o)
3. Defitute

4 Imumnediate

Question Number : 122 Question Id : 67809417545 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

PROM stands for

Oplions :

1. Pre-fed Read Only Memory

-

-, Programmable Read Only IMemory

]

. Pre-required Read Only IMemory

4. Progranmumed Read Only Ilemoty

CQuestion Number : 123 Question Id : 67809417546 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Ezecuting an instruction mvolves the following phases

Oplions :
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3. Instiucton Feteh and nstiuction Exzecution

4. Instruction Fetch and Instruction Processing

Question Number : 124 Question Id : 67809417547 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

An mterrupt that can be temporarily ignored i3
Options :
1. Vectored mtermupt

2. Waskable miterrupt
3. Non-Maskable mtertupt

4. High priority mterrupt

Cuestion Number @ 125 Question Id : 67809417548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Both the CILC and RISC architectures have been developed to reduce the

Oplions :
1. Cost

. Tune delay
3. Turnaround hime

4. Hemantic gap

CQuestion Number : 126 Question Id : 67809417549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 15 Fastest memory?
Oplions :
1. Cache

2. RAM
3. Register

4. Secondary storage

Cuestion Number @ 127 Question Id : 67809417550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The DIVIA transfers are performed by a contral circut called as
Options :
1. Device mterface

2 DIVIA controller

3. Data controller

4. Overloolcer

Question Number : 128 Question Id : 67809417551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When we perform subtraction on -7 and 1 the answer in 2's compliment form is

Options :

; 1010
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. 0110
3.

, 1000

Question Number : 129 Question Id : 67809417552 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

What is the value of X in this C Code?

void main()

float X=2*4/5+6;

o

Options :
i Compile time error

~ 7.600000

-

/.000000

s

Question Number : 130 Question Id : 67809417553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg 15 not a Linear Data Stiucture?
Options :
1. Arrays

-

. Graphs
. Linked Lists

4. Queues

L

(]

Question Number : 131 Question Id : 67809417554 Display Question Number : Yes Single Line Question Option : No Option
(wientation : Vertical

What is the Worst-Case Time complexity to search key in array of size N using Binary Search?

Options :
0N

2

, O(N%)
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Question Number : 132 Question Id : 67809417555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Number of Nodes in a full Binary tree with n leaves is

Oplions :

| 2n-1

to

=%
G’E
T

[He

s

CQuestion Number @ 133 Question Id : 67809417556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg operation m smgle inleed hst needs legs execution tune?
Oplions :
I Inserting a node 1 the begitning

-

. Inserting a node m the nuddle

L]

(]

Inserting a node at the end

4. Ingerting a node at position -

Question Number : 134 Question Id : 67809417557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the @iven mput array 15 sorted or neatly sorted, which of the followmg algorthm gives the best performance”?
Options :

1. Quick sort

2. welection sort

3. Insertion sort

4. Ilerge sort

Question Number : 135 Question Id : 67809417558 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical
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finclude<stdio.h>

voild main()

Int x=10,vy;
y=Xtt;
y=++X;

printf({“%d %d” x,y);

Options :
[ JLt 1.4

12 12

-

s 12 10

;1010

Question Number : 136 Question Id : 67809417559 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

The type of the controling expression of a swatch statement cannot be of the type
Options :
1. it

TicHar
3. %61t

4 float

(Question Number : 137 Question Id : 67809417560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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void main()

nti:
for(i=0;i<10;i++);

printf(“%d” ,i);

Options :
SYNLax error

1—

(123456739

ot

. 012345678910

, 10

Question Number : 138 Question Id : 67809417561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is the function used to read mixed type of data from file?

Options :
; facanf()

. Tprintf()
. foets()
iy

, frell)

Question Number : 139 Question Id : 67809417562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first micro-processor had a/an
Options :
1. 1-Dbit data bus

2. 2- bit data bus

-

4-hit data hie

-t
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Question Number : 140 Question Id : 67809417563 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Intel’s 50340 wag launched m the year
Options :
11871

(Question Number : 141 Question Id : 67809417564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The registers of 5030 are bits 11 s17e.

Options :

(Question Number : 142 Question Id : 67809417565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

register 15 used as a default counter m case of stoing and loop wmstructions.
Options :
| AX
2 BX
305

4. DX

(Question Number : 143 Question Id : 67809417566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The numbers of address and data lnes of 5050 are respectively
(Iptions :

1. Sand S

2 loand 16

3 2Mand 16

4 16 and 20

Question Number : 144 Question Id : 67809417567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

13 the most unportant segment that contaws the actual assembly language mstiuctions to be ezecuted by the
Il'iiCl'EllJl'El Cess0r
Options :
1. Data segment
2. Code segment
3. btack gegment

4. Extra segment

e mmdl el Rl Ll L T A A nd2 L T L SO AT ESD Tel e e e e md el ATl e L BT e O AV Tl el e ATl L AT el
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. tnmediate addressing mode

2. direct addressing mode

(]

- mdirect addressing mode

4. register addressing maode

(Question Number : 146 Question Id : 67809417569 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mstruction, JIVIP S000H: Z000H: 15 an ezample of
COptions :
. intragegment direct made

e

2 mtrasegment widirect mode

]

intersegment direct made

4. mitersegment mdirect mode

Question Number ;: 147 Question Id : 67809417570 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

During the mstruction cycle of 30330, any debug fault can be ignored if
Options :

1 VI flag 1s set

2 NI flag g cleared

- RF 15 cleared

4. RF 15 set

-

]

Question Number : 148 Question Id : 67809417571 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The 10 bit flag of 5030 mucroprocessor 15 responsible to mcicate

Options :
1. The condition of result of ALU operation

-

2. The condition of memory

- The result of acddition

(]

4 The result of subtraction

Question Number : 149 Question Id : 67809417572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The processes that are residing m mam memory and are ready and waiting to ezecute are kept on a list called
Oplions :
1. Job queue

-

.. Ready queus

]

- Exzecution queue

4. Process queue

CQuestion Number : 150 Question Id : 67809417573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Processes are executed m the sequence they arrive if 1ule sequences the jobs.
Oplions :
1. Earliest due date
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Question Number : 151 Question Id : 67809417574 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

A System Program that combines the separately compiled modules of a program into a form suitable for ezecution 1%
Options :

1. Asgembler

2. Linlang loader

3. cross compaler

4. load and go

Question Number : 152 Question Id : 67809417575 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

In which addressing mode the contents of a register specified m the mstruction are first decramented, and then these contents are
used as the effective address of the operands?

Options :

. index addressmg

2 idirect addressing

3. auto increment

4 auto decrament

Question Number : 153 Question Id : 67809417576 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

A deadlocle avotdance algoritlun dynanucally ezanunes the to ensure that a circular wait condition can never east

Options :
1 Eesource allocation state

e

2. oystem storage state
3. Uperating system

4, kesources

(Question Number : 154 Question Id : 67809417577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The disadvantage of mvolang the detection algorithim for every request 15
Options :
1. overhead of the detection algorithin due to consumption of memory

e

2 ezcesstve Hime consumed i the request to be allocated memory
3. considerable overhead m computation time

4. ether deadlock exzigts or system 15 1 a safe state

(Question Number : 155 Question Id : 67809417578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A o.......onfree space management has the advantage that it relatively easy to find one or a cantiguous group of free
blocls.

Options :

1. Bit table

-

2. Chamed Free Portion

]

- Indexzing

A Tarmm Olm a1a T 2ud
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Orientation : Vertical

The memory wluch allocates space for DOS and application 15 called
Options :

1. Exzpanded memory

2. Cache memory

3. WVirtual memory

4. Conventional memory

(Question Number : 157 Question Id : 67809417580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements 15 false?
COptions :
1. You can find deleted files m recyele bin

e

2. You can restore any files i recycle bin if you ever need

]

. Tou can increase free space of disk by sending files i recycle bin

4. You can right click and choose Empty Recycle B to clean it at once

Question Number ; 158 Question Id : 67809417581 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

Which menu bar selection would you access to open file?
Options :

1. Option

2. Help

3. View

4 Tool

Question Number : 159 Question Id : 67809417582 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The primary purpose of an operating system i3
Options :
1. To male the most efficient use of the computer hardware

-

2. To allow people to uge the computer

(]

- To leeep systems programumers employed

4. To malke computers easter to use

Question Number : 160 Question Id : 67809417583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 15 an ezample of a real tune operating gystem?
Oplions :

1. Ly

2. s DOS

Windows 2P

4 KT Lz

]

Question Number : 161 Question Id : 67809417584 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

A relational database consists of a collection of
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- L L'LlLba
3. Eecords

4 Kevys

Question Number : 162 Question Id : 67809417585 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

For each attribute of a relation, there 12 a get of permitted values, called the of that attribute.

Options :
1. Kelation

-

2 Schema
3. Dotmain

4 Set

Question Number : 163 Question Id : 67809417586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg containg a complete record of all activity that affected the contents of a database during a carta pertod of
tune?

Oplions :

. query language
2oreport writer
3. transaction log

4. data manipulation language

Question Number : 164 Question Id : 67809417587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The statement 1 SQL wlich allows to change the defiiution of a table is
Oplions :

1. ALTER

X UPDATE

3. CREATE

4. abELECT

(Question Number : 165 Question Id : 67809417588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The wildcard 11 a WHERE clause 15 useful when!
Oplions :
1. An ezact match 13 necessary ma SELECT statement

e

2. An emact match 13 not possible ma SELECT statement.

L

An ezact match 1 necessary ma CREATE statement

4. An ezact match 15 not pogsible i a CREATE statement.

Question Number : 166 Question Id : 67809417589 Display Question Number : Yes Single Line Question Option : No Option
(wrientation : Vertical

When three or more AND and OR conditions are combitied, it 15 éasier to uge the H QL keyword{s):
Options :
1. LIKE Only

2 IM only
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Question Number : 167 Question Id : 67809417590 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Grven the basic ER and relational models, wlich of the following 15 INCORRECT?
Options :

1. An attribute of an entity can have more than one value

2. An attribute of an entity can be composite

3. Itiarow of a relational table. an attribute can have more than otie value

4. Inarow of a relational table, an attnbute can have ezactly one value or a NULL wvalue

(Question Number : 168 Question Id : 67809417591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followimg 15 TRUE?

Options :

1. Every relation m 5IME 15 also m BCIWF

2. Every relation i1 BCNF 13 also in 5NF

3. Avrelation Ro1g m SMF if every non-prime attribute of K13 fully functionally dependent on every key of R

4 Mo relation can be 1 both BCWEF and SNF

(Question Number : 169 Question Id : 67809417592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

& selection of the form grang all the records not satisfymg sunple mdrvidual conditions 13
Options :

1. Comjunctive gelection

2. Dagjunctive selection

3. Megation

4. Comgunctive selection by mtersection of identifiers

(Question Number : 170 Question Id : 67809417593 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The lowest level operator to access data m query processing 1s
(Iptions :

1. File scan

© File mampulation

. File handhng

L

(]

4. File orgamzation

Question Number : 171 Question Id : 67809417594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process of malang a function to exzlhibit different behaviors m different instances 15 called
Options :
1. function overloading

2. operator overloading
3. wnherttance

4. polymorplusm

Question Number : 172 Question Id : 67809417595 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical
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S
1. operator overloading

2. encapsulation

]

data hiding

4. polymorplusm

(Question Number : 173 Question Id : 67809417596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a clags, encapsulatmg an object of another class 15 called
COptions :
1. Composition

e

2 Inherttanice

]

- Encapsulation

4. Polymorphisim

Question Number ;: 174 Question Id : 67809417597 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

If you want to write multiple functions m a class with same name, then what C++ feature will you uge?
Options :
1. Function Overnding

-

2. Function overloading

]

- Encapsulation

4 Inheritatice

Question Number : 175 Question Id : 67809417598 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

In C+4+, Class object created statically and dynamically are stored in the following memories respectively.

Options :
Stack, Heap

Heap, Stack

—

4 Stack, Stack

CQuestion Number : 176 Question Id : 67809417599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements is correct in C++7

Options :

C ++ allows any operator to be overloaded.
1
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. Operator precedence cannot he changed
J,

i reduces the compilation time

CQuestion Number : 177 Question Id : 67809417600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following operators cannot be overloaded?

Oplions :

o
.

5
3.

P
4I .

Cuestion Number : 178 Question Id : 67809417601 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The fields 1 a structure of a C program are by default
Oplions :

1. Protected

2. Public

3. Private

4 Woud

Question Number : 179 Question Id : 67809417602 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Blanles, tabs, newlnes, form feeds and conunents are collectively called

Options :
1. Blanle Fields

2. White Space
Null Values

4 Laterals

L]

Question Number : 180 Question Id : 67809417603 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Usge of ezasting assets m some form within software product developmett process 15 termed as

Options :
1. Reusability

T T Tomdnalitns
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Question Number : 181 Question Id : 67809417604 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

wize of float and double 1 Java is
Options :
1. 32 and 64

2 64 and 64

3. 32and 32

4. 64 and 3

Question Number : 182 Question Id : 67809417605 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

The prototype of the default constructor is

Options :

Set (|
T .
. Set (void)
_ Public Set ()
3.
, Public Set (void)

Question Number ;: 183 Question Id : 67809417606 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical
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class Qutput

public static void main(String args|])

oy

boolean a = true;
boolean b = false;
booleanc=a " b;

System.out.println(!c);

(ptions :
U

L lrue

(Question Number : 184 Question Id : 67809417607 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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int Al[];
inti=0;
A = new int Al4];

while (1 < 4)

(ptions :
Y

10

s

, 11

CQuestion Number @ 185 Question Id : 67809417608 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which clags cannot be subclagsed (or extendesd) 1 java?
Oplions :
1. Abstract class

-

. Parent class

L]

. Final class

4 Hub Class

(]

Cuestion Number : 186 Question Id : 67809417609 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Thread class is available in

Options :
| lava.io package
java.lang package
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4 java.util package

CQuestion Number : 187 Question Id : 67809417610 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the operator 12 used to generate an mstance of an ezception than can be thrown by usmg throw”
Oplions :

1. new

2. malloc

3 T

4 thrown

Cuestion Number : 188 Question Id : 67809417611 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

otring 13 the predefined
Oplions :

1. Iethod

-, Class

Vartable

4. Object

(]

Question Number : 189 Question Id : 67809417612 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these methods can be used to output a string in an applet?

(ptions :
1 display()

, print()

~drawstring()

]

transient()

g

CQuestion Number : 190 Question Id : 67809417613 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of these keywords 13 used by a class to vge an interface defined previously”
Oplions :
1. unport

2. export
3. unplements

4. varm|bles passmg
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Which of the followimg statement 15 ttue?
Options :
1. Attribute names must be in uppercase

-

2. Attribute values must be quoted

(]

CAttribute mintization 15 mandatory

4. Attribute value must nat be quoted

(Question Number : 192 Question Id : 67809417615 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What will be the output of the following PHP code?
< ’php
Scolor = "maroon';
Svar = Scolor[2]:

echo "Svar'" ;

P

COptions :

. A

» Error
_oSvar
3

4. !

(Question Number : 193 Question Id : 67809417616 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Correct HTML tag for the largest heading is

Options :

| <head>
. <h6>

. <heading>
3.
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Question Number : 194 Question Id : 67809417617 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following functions will convert a string to all uppercase letters?

Options :
strtoupper()

uppercase()

-

str uppercase()

; struppercase()

CQuestion Number @ 195 Question Id : 67809417618 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which attribute i3 used to extend the Lfetine of a coolae”
Oplions :
1. higher-age

e

.. Increase-age

(]

- Max-age

4 hfetune

Question Number : 196 Question Id : 67809417619 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If you are using the Databet and you have to display the data m sorted order what wall you da?
Options :
1. Usge Hort method of DataTable

]

- Use Sort method of Dataset

L]

. Use Data“1ew object with sach sort

Js

- Uze datapagig and sort the data

Question Number : 197 Question Id : 67809417620 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

What are the thres prunary lands of paramieters”
Options :
I Input, Integer, Strmg

-

CInteger, btrng, DateTime

L

]

- int, varchar, nvarchar
4. Input, Output, InputOutput

Question Number : 198 Question Id : 67809417621 Display Question Number : Yes Single Line Question Option : No Option

fyrientatinn + Vortical
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4. Update

(Question Number : 199 Question Id : 67809417622 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following method of the conunand object 15 best swted when vou have aggregate functions ma SELECT statement”
COptions :
1. Executebcalar

e

2 ExzecuteReader

]

- EzecutelNonQuety

4 Ezecute

Question Number ;: 200 Question Id : 67809417623 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

ADO MNET provides the ability to create and process m-memory databases called.
Options :
I Views

-

2. Eelations
. Tables
4 Datasets

]
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